
1

Add: 1135 Thomas Busch Highway, Pennsauken, NJ 08110  Phone: 866-222-8866   E-mail: info@abovealllighting.com
 Web: www.AboveAllLighting.com ©2016 ABOVE ALL Lighting, Inc. All rights reserved

SELECTABLE TRUMPET WALL LIGHT
Instructions Manual

SAFETY INSTRUCTION

READ CAREFULLY BEFORE INSTALLING FIXTURE. PLEASE KEEP THIS MANUAL FOR FUTURE USE.
Fixtures must be wired in accordance with the National Electrical Code and all applicable local codes. Proper 
grounding is required for safety.
THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE APPLICATION CODE BY A 
PERSON FAMILIAR WITH THE CONSTRUCTION AND OPERATION OF THE PRODUCT AND THE 
HAZARDS INVOLVED.
MAKE CERTAIN POWER IS OFF BEFORE INSTALLING OR MAINTAINING FIXTURE.
CHECK THAT VOLTAGE IS COMPATIBLE WITH FIXTURE DRIVER. USE APPROVED CONNECTORS FOR 
ALL ELECTRICAL CONNECTIONS.

MAINTENANCE CAUTION

.
2. For lighting controls, follow control instructions carefully.

4. Maintenance must be done by professionals.

Universal Voltage permits operation at 120VAC thru
277VAC, 50 or 60 Hz.

a. Connect the black luminaire lead to the supply lead.
b. Connect the white luminaire lead to the neutral supply lead.
c. Connect the green or green/yellow ground lead to the green
    supply lead.

a. If Dimming is an option; connect the violet dimming positive 
    lead to the supply dimming positive lead. If dimming is not 
    being used, ensure to cap off the violet lead.
b. If Dimming is an option; connect the pink dimming negative 
    lead to the supply dimming negative lead. If dimming is not 
    being used, ensure to cap off the grey lead.

INSTALLATION

LUMINAIRE

LINE-BLACKLINE

NEUTRAL

DIM (+) VIOLET VIOLET

PINKDIM (-) PINK

GREEN GROUND-GREEN

NEUTRAL-WHITE



INSTALLATION

Add: 1135 Thomas Busch Highway, Pennsauken, NJ 08110 Phone: 866-222-8866   E-mail: info@abovealllighting.com
 Web: www.AboveAllLighting.com ©2016 ABOVE ALL Lighting, Inc. All rights reserved

2

SELECTABLE TRUMPET WALL LIGHT
Instructions Manual

The Finished Fixture Accessories inside the Box

Special for External Junction Box

(1) φ 124*5mm 
Gasket A

(For Internal Junction Box)

(1) φ 113*10mm 
Gasket B

(3) M4*6 
Round Head Screw

 (2) M4 Screw Cap(1) Mounting Bracket(1) Gooseneck Body

(1) Round Base

(2) M4*12 
Round Head Screw

(5) Wire Nuts

(2) M4*14
Round Head Screw

(2) #10-1in 
American Screw 

1. Mount and screw the base on the end of gooseneck arm with (1) M4*6 round head screw. 
2. Adjust wattage and CCT with switch according to your requirement if needed. The default setting is 30W, 3000K.
3. Choose photocell function by ON/OFF switch. ON means enable photocell. OFF means disable photocell. 
    Disable photocell is default setting.
4. Screw (2) M4*6 round head screws into mounting bracket. Stickφ124*5mm gasket on the wall and fix the mounting     
    bracket with (2)M4*12 round head screws.

Default setting: 30W, 3000K

5. Connect the wires with wire nuts according to wiring diagram.
6. Let screws on mounting bracket pass through two holes on round base and fix them tightly with (2)M4 screw caps.
7. Loosen butterfly bolt and swivel to adjust Angle. Tighten when desired position is reached.

Internal Junction Box Installation:

1 2
(1)M4*6 

Round Head Screw



Add: 1135 Thomas Busch Highway, Pennsauken, NJ 08110 Phone: 866-222-8866   E-mail: info@abovealllighting.com
 Web: www.AboveAllLighting.com ©2016 ABOVE ALL Lighting, Inc. All rights reserved

3

SELECTABLE TRUMPET WALL LIGHT
Instructions Manual

Default setting: OFF

3

4

（2) M4*6 
Round Head Screw

Photocell

(2) M4*12 
Round Head Screw

Adjustable angle

M4 Locknut

5

6 7

Pink

Purple

DIM-

DIM+

Yellow/Green

OUTPUTINPUT White(N)Neutral Line

Black(L)Fire Line

(G)Ground Line

(5) Wire Nuts

(2) M4 Screw Cap

Adjustable angle



Add: 1135 Thomas Busch Highway, Pennsauken, NJ 08110 Phone: 866-222-8866   E-mail: info@abovealllighting.com
 Web: www.AboveAllLighting.com ©2016 ABOVE ALL Lighting, Inc. All rights reserved

4

R
ef#: 20220509

SELECTABLE TRUMPET WALL LIGHT
Instructions Manual

1. Mount and screw the base on the end of gooseneck arm with (1) M4*6 round head screw. 
2. Adjust the wattage and the CCT with switch according to your requirement. Default setting is 30W, 3000K.
3. Choose photocell function by ON/OFF switch. Default setting is OFF which means photocell disable. 
4. Stick  φ113*10mm gasket on round base, pass wires through gasket and connect wires with nuts.
5. Fix base and junction box with #10-1in American screw. 
6. Loosen butterfly bolt and swivel to adjust. Tighten when desired position is reached.

External Junction Box Installation:

1 2(1) M4*6 
Round Head Screw

Pink

Purple

DIM-

DIM+

Yellow/Green

OUTPUTINPUT White(N)Neutral Line

Black(L)Fire Line

(G)Ground Line

Photocell3

4

5 6

(5) Wire Nuts

(2) #10-1in 
American Screw

Adjustable angle

Default setting: 
30W, 3000K

Default setting: OFF


